Height of Tides

with Poole Sailing

In tidal waters the actual depth of water varies throughout the day. We often need to work out just when we
can safely sail over an area of shallows or cross a sill into a marina. Some navigation apps and programs will
give tidal height predictions at various ports for a day or so ahead of time, but we will concentrate on the
method available in our Almanac which can be used months ahead of our planned trip. But be warned, the
available data is based solely on astronomic predictions, so you must apply a generous safety margin to allow
for atmospheric conditions and ‘sea state’, whether that is caused by weather conditions or a passing vessel.
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Height of Tides

with Poole sailing

The section below shows that the Drying Heights and Charted Depths shown on charts relate to the level known as Chart Datum
or L.AT. while clearances under Bridges and cables relate to the Highest Astronomic Tide or H.AT.

In tidal waters the navigable depth (or clearance) will increase and decrease with the ebb and flow of the tide, so the available
‘depth of water’ will be either, an addition of the Height of Tide plus the Charted Depth, or the Height of Tide minus a Drying
Height. To know how much depth we have to play in we must be able to determine the ‘Height of Tide’ at any time of day.
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Height of Tides
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The almanac will also have a curve for
each standard port which shows the way
that the tide ebbs and flows in that area.

You can load the curve with the three
bits of information taken from the tide
page. The time of HW can be put in the
‘time’ scale at the foot of the curve. The
heights of HW and LW can then be
plotted on the appropriate scales. A line
drawn between the high water and the
low water heights will represent the
range of tide on that particular day. The
height of tide at any time of day can
then be determined by following a route
from the time scale through the curve
and the range line to the height scale.

with Poole sailing

All of the Standard Ports have pages of tide data giving the times
and heights of High water and Low Water for each day of the
year. Times are given in the regions standard time zone so be
prepared to add an hour for summer time where appropriate.

In this example, Sunday the 28th, HW is at 10.56 standard time

which is 11.56 summer time. The height of HW is 6.0 metres and
LW is at 0.3 metres.
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Height of Tides
with Poole sailin

We can’t have full tidal data for every port and anchorage.
So for those minor ports we are given a series of
adjustments to make to a Standard Ports data to turn the
data into relevant figures for the ‘Secondary Port’. We want
to go anchor in Swanage Bay on the afternoon of 1% January.
Looking at the data page for Swanage we can see that it is a
secondary port based on the standard port of Poole.
Reference to the Poole Harbour tide data below shows that
on 1t January low water is at 18.10 UT, and that the Height
of Tide at low water will be 0.6m. Height of tide at the
earlier high water is 2.1m. We don’t have to make any
adjustments to the times as we are in winter and we can tell
from the range that we are on the ‘spring’ tide cycle.
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The tidal data §justments for Swanage, shown below the
chartlet, say that when low water at Poole occurs at 05.00 or
17.00 then we should take off 45 minutes to turn it into a
Swanage time. But also that if the Poole LW time is at 11.00
or 23.00 then we should take off 50 minutes. Poole LW is at
18.10 so we will take off 46 mins to make the Swanage LW
time 17.24. Similarly the table says that when the Poole HW
Height is 2.2m we should take off 0.1m to turn it into a
Swanage height, or if the Poole HW height is 1,7m we should
add 0.1m. On the day the Poole HW height is 2.1m so we
will reduce that by 0.1 to 2m at Swanage HW. The table
further shows that we should add 0.2m to the Poole LW
height to turn it into a Swanage LW height of 0.8m on the
day.
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Height of Tides

with Poole Sailing

We can now put the Time of Low water Swanage, plus the Heights of High and Low water onto the Standard
Port’s ‘Curve’. We can then draw a line between the Low water and the high water heights, to represent the

‘Range’ of tide on that afternoon. We can then link Height of Tide to Time of Day, and establish that the Height
of Tide in Swanage Bay will be 1.5 metres at 15.24.
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Height of Tides

with Poole sailing

To put the result into a worthwhile context lets
say that we have arrived in Swanage Bay at
15.24 on the 15t of January with a boat that
draws 2.0m.

We have come to anchor with our depth gauge
indicating that we have 1.5m below our keel.

We have deduced that at 15.24 we have a
Height of Tide of 1.5m and from the tables we
deduced that at Low Water the Height of tide
would be 0.8m and at High Water it was 2.0.

From the diagram we can see that the boat will
fall 0.7 metres between 15.24 and LW leaving a
minimum of 0.8metres of clearance ‘under our
keel’. And further that the boat will rise by a
further 0.5m to HW so we should allow for a
maximum depth of 4m when deciding on the
‘scope’ of our anchor warp.
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